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A 3 1 W/C = 30 0.08 -0.60 4.08 o i L 1 W/C = 30 -0.09 3.24 3.86
W 3 1 30<W/C=35 0.11 -3.39 3.34 o A 1 30<W/C=35 -0.07 1.78 2.16
35 1 35< W/C= 40 0.17 -7.48 3.35 o L 1 35< W/C =40 -0.05 -1.40 4.32
[ 1 40< W/C 0.12 -4.66 3.48 o L 1 40<WIC 0.00 -4.45 3.74
W 3 2 W/C=30 0.08 0.24 2.24 o e 2 3 W/C= 30 -0.07 1.70 3.87
A 3 2 30< W/C=35 0.05 4.08 4.99 o L 3 30<W/C=35 -0.01 -3.51 452
W3 2 35< W/C =40 0.14 -4.66 3.23 o A 3 35< W/C =40 0.10 -9.50 2.74
35 2 40< W/C 0.22 -10.52 2.65 o 2 3 40< W/C -0.03 -3.27 4.76
[ 3 W/C = 30 0.06 3.94 4.04 o 4 W/C = 30 0.00 -0.46 3.77
WS 3 30< W/C=35 0.08 -1.45 2.96 o e 20 4 30<W/C=35 0.00 -1.51 2.99
A 3 3 35< W/C =40 0.15 -7.94 3.51 o i L 4 35< W/C =40 0.02 -3.56 3.80
Rt 3 40< W/C 0.12 -4.85 2.62 R L 4 40< W/C 0.00 -3.25 3.79
5 4 W/C=30 0.10 -1.18 4.05 e 5 W/C=30 0.03 -5.05 3.58
A 5 4 30< W/C=35 0.11 -2.32 2.89 o i L 5 30<W/C=35 -0.04 0.16 4.00
W3 4 35< W/C= 40 0.17 -6.68 3.30 o A 5 35< W/C=40 0.08 -12.43 5.28
A 3 4 40< W/C 0.15 -5.44 3.74 o L 5 40< W/C 0.03 -7.64 471
[ 5 W/C = 30 0.06 0.33 4.41 % 1 W/C =30 0.07 -12.02 6.35
P3G 5 30< W/C=35 -0.04 8.34 5.49 R 1 30<WI/C=35 0.03 -10.92 5.64
A 3 5 35< W/C =40 0.18 -9.92 2.77 R 1 35<W/C=40 0.13 -15.63 7.17
il 5 40< W/C 0.10 -4.51 3.61 fEEL 1 40< W/C -0.05 -7.69 5.51
35 6 W/C=30 0.05 3.25 0.93 EE 3 W/C=30 0.03 -7.94 6.10
A 5 6 30< W/C=35 0.10 -0.23 0.57 24 3 30<WIC=35 0.10 -12.37 7.06
W5 6 35< W/C= 40 0.09 -1.50 1.16 [ 3 35<W/C=40 -0.10 -5.32 6.73
A 3 6 40< W/C 0.12 -4.56 3.01 R 3 40<WIC 0.05 -10.34 6.42
Rt 7 W/C=30 -0.02 5.94 1.56 fEEL 4 W/C=30 -0.04 -2.44 4.41
35 7 30< W/C=35 -0.05 5.48 3.00 {21 4 30<WI/C=35 -0.11 -1.89 4.22
[ 7 35< W/C =40 -0.02 4.69 1.44 R 4 35<W/C=40 0.04 -9.60 5.48
Lt 7 40< WIC -0.01 3.26 1.69 R ER 4 40< W/C -0.01 -6.90 4.69
e} 8 W/C=30 1.28 -108.42 2.68 SF 1 W/C = 30 0.04 1.34 1.98
R 8 30<W/C=35 1.04 -76.35 0.45 SF 1 30<W/C=35 -0.06 3.03 2.27
[ 8 40< W/C -1.72 128.78 10.81 SF 1 35< W/C =40 0.05 -3.52 1.21
gl 2k BN 0.12 371 3.55 [ ESES ENXGS 0.03 -9.00 5.79

bR | 2k Ak -0.004 -2.41 4.02 SF S S -0.06 1.88 5.74
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Ay M| 2 — K| KB A2 RO A B YRR E (22 MBI =— R | KE A M EOHH A B FEYERR =
P 1 W/C=30 0.07 7.35 4.18 EEEA 1 30<WC=35 -0.14 1453 3.66
Pt 1 30<WI/IC=35 0.06 7.60 491 EEEA] 1 3BH<WC=40 -0.18 14.80 3.69
P 1 3BH<W/C=40 0.16 -0.70 351 o A 1 40<WC -0.14 12.12 4.62
P 1 40<W/C 0.07 4,93 3.75 o i B 2 WC=25 -0.18 18.48 534
PRt 2 W/C=30 0.00 14.61 3.68 b 2 2 25<WC=30 0.00 6.57 314
LRt 2 30<W/IC=35 -0.08 23.89 3.05 o A 2 30<WC=35 0.00 6.72 4.02
] 2 3B<W/C=40 0.11 453 4.26 o fF 2 3B<WC=40 0.04 4.01 3.62
58 2 40<W/C 0.04 5.80 8.68 v A 2 40<WC -0.04 7.67 431
BT 3 W/C=30 0.05 10.34 459 v 3 WC=25 -0.05 12.60 4.41
P 3 30<W/C=35 0.11 413 348 EEEA 3 25<WC=30 -0.12 17.18 3.89
P 3 3BH<W/C=40 0.10 354 4.02 EEEA 3 30<WC=35 -0.11 14.82 3.75
3 3 40<W/C 0.12 1.48 3.80 o A 3 3BH<WC=40 -0.13 14.90 3.76
Pt 4 W/C=30 0.07 7.91 4.19 o i B 3 40<WC 011 11.75 393
PRt 4 30<W/C=35 0.06 8.20 3.66 b J 2 4 WC=25 -0.29 25.55 0.95
38 4 35<W/C=40 0.13 271 382 i L 4 25<WC=30 -0.19 18.92 5.72
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&3.6.1 AL OYILE

YvEE (BRI, i) A ~OFEE
M1 M2 M3 M4
Cement Composition C3S (%) 48.05 | 40.05 3205 | 24.05
Cement Composition C,S (%) 32.76 | 40.76 48.76 | 56.76
Cement Composition CsA (%) 3.69 3.69 3.69 3.69

Cement Composition CsAF (%) 1235 | 12.35 1235 | 12.35

Cement Composition GYP (%) 3.48 3.48 3.48 3.48

Cement Composition CC (%) 0.0 0.0 0.0 0.0
Cement Composition SF (%) 0.0 0.0 0.0 0.0
Cement Composition BFS (%) 0.0 0.0 0.0 0.0
Cement Composition FA (%) 0.0 0.0 0.0 0.0
Blain 2600.0 | 2600.0 | 2600.0 | 2600.0
Intial Temperature (K) 2930 | 2930 | 293.0 293.0

#£3.6.2 a0 )— bOEEE I UMEYKE

e O
M1 M2 M3 M4

HE BN E (kg/m?) 175.0 175.0 175.0 175.0
it A2 b (kg/md) 795.0 648.0 547.0 473.0
BALEH & (kg/m?) 558.0 676.0 760. 821.0
BACHEM & (kg/md) 926.0 926.0 926.0 926.0

75 & (Lmd) 20.0 20.0 20.0 20.0

R K (g/mm?3) 1.0 1.0 1.0 1.0
AV (g/mmd) 3.16 3.16 3.16 3.16

HEA (g/mmd) 2.58 2.58 2.58 2.58

HEH (g/mm?3) 2.70 2.70 2.70 2.70

A K QIgK) 4.185 4185 4185 4185
A (gK) 0.780 0.780 0.780 0.780

B4 (IgK) 0.800 0.800 0.800 0.800

HEH (IgK) 0.800 0.800 0.800 0.800

-56-




100 100

® O
o O
[Ye]
o

~
o

[o)]
o

o

P Al
o

AR (MPa)

20 =4=20c

10 / =—60
0 T T T , . T : )
0.1 1 10 100 1000 0.1 1 10 100 1000

##5 (days) Miin (days)
X3.6.3 fEMTFEER W/C0.22 M) X3.6.4 fEHTFEER W/C0.22 M2)

100 100

[Ys]
o
o)
o

[oe]
o
(o]
o

~
o
~
o

‘%n? 60 T 60
2 5o 2 5
1 y 4 m
@ 40 &
/ # 40
30 / 30 /

20 ——20c 20 ;// ——20c
0.1 1

0.1 1 1I0 1(I)0 10I00 0 1I0 1(;0 10I00
iR (days) #1# (days)
3.6.5 fEHTHER (W/C0.22 M3) 3.6.6 FEMTEER (W/C0.22 M4)

-57-



100

100
90
80
2 70
E 60
/ &~
# 40
30
=$=20c 20
=60 10
0.1 1 1IO 1(I)0 10I00 0
$1ii5 (days)
3.6.7 fEMTHER (W/C0.27 M1)
5
4
- )
=4—=20c
=—60
0.1 1 1I0 l(I)O 10IO(
MR (days)

X3.6.9 fEHTHER W/C0.27 M3)

-58-

/} =6—20c
== 60
0.1 :;. 10 1(I)0 10IOO
M (days)
3.6.8 FEATHER (W/CO.27 M2)
100
90
80
70
60
50
40
30 /
20 ==20c
10 —W=60
0 T T )
0.1 1 10 100 1000
#1iit (days)

[3.6.10 FFHTHER (W/C0.27 WM4)



100
90
80

TR (MPa)
= N w oy (9, (2] ~
o o o o o o o

o

100

TR FE (MPa)
= N w D Ul (e} ~ 0] [(e)
o o o o o o o o o

o

0.1

L

=¢=20c
=—60

100 100C

=

0.1 10

## (days)

X3.6.11 fEHTHER (W/C0.32 M1)

i
>

=

1

«=—=20c
=—60

10 100 1000

R (days)

3.6.13 FEHTHER (W/C0.32 M3)

100

90

a0

70

BT (MPa)

-59-

100

10

1000

0.1
5 (days)
3.6.12 fEFTHER (W/C0.32 M2)
/ e I
.’}/ =G0
0.1 :;. 1IU 1';]0 lﬂlﬂﬂ
BT (days)

[X3.6.14 fEHTHER (W/C0.32 M)



100 100
90 90
80 80
70 70
ﬂﬁﬁ— T 60
2 5
i
& 40
30 -
20 / === 20cC
10 —W=60
- - ' 0 I/ : : -
0.1 1 10 100 1000 01 1 10 100 1000
% (days) M5 (days)
3.6.15 MRAFHER (W/C0.37 M1) 3.6.16 SRATAEE (1/C0.37 W2)
100 100
90 90
80 80
70 70
T 60 T 60
i 50 Eﬂ, 50
£ 40 % 40
30 30
20 ——120c 20 ——20c
10 =60 10 =50
0 1 0 T T T 1
0.1 1 10 100 1000 0.1 1 10 100 1000
5 (days) #11% (days)
X3.6.17 fEHHER W/C0.37 M3) X 3.6.18 fEHTHER (W/C0.37 M4)

-60-



WIZ, BURDE A > N OALFRARRI T BB I X OVIRERE 2 42 U D55 12 DU CORMRITHRE R
ot FASMEIAEIC B W TER L EROFEES ZHW -, BEBREIT. %t A NofEHEIC

JECCLAUT DY & Uiz,
a) WAL ET REASB
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I

FRVER (B 23 VIREE 20°C, il 70°C, INAdREE 20°C)
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b) KEVRLFT > REAL b

2 W (B EAN DR 30C, M 75°C, iR 30°C)
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2 W Gl B2 IR 30C, A 80°C, INEHREE 30°C)
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#x3.6.9 AL OYHEE

YvEE (BRAREER, i) A R
et R A fEER
Cement Composition CsS (%) 51.0 43.0 37.0
Cement Composition C,S (%) 25.0 36.0 59.0
Cement Composition CsA (%) 9.0 5.0 2.0
Cement Composition CsAF (%) 8.0 12.0 8.0
Cement Composition GYP (%) 4.0 4.0 4.0
Cement Composition CC (%) 3.0 0.0 0.0
Cement Composition SF (%) 0.0 0.0 0.0
Cement Composition BFS (%) 0.0 0.0 0.0
Cement Composition FA (%) 0.0 0.0 0.0
Blain 3.600.0 3.600.0 3500.0
Intial Temperature (K) 293.0 293.0 293.0
£3.6.10 o>V ) — FOEKEIUHEDE
A OFEHR
RG] R A fEAR
KA N 30 40 25 30 40 25 30 30
HAKE (kg/md) 1700 | 1700 | 1700 | 1700 | 170.0| 1650 | 1650 | 165.0
B Ay N (kg/md) | 567.0 | 425.0 | 680.0 | 425.0 | 425.0 | 7040 | 550.0 | 4120
WA E RS B (kg/m®) | 767.0 | 8760 | 675.0 | 775.0.| 883.0 | 704.0 | 804.0 | 907.0
BACHEM & (kg/md) 851.0 | 851.0 | 851.0 | 851.0 | 851.0| 851.0 | 851.0 | 851.0
ZeRE  (LUmd) 45.0 45.0 45.0 45.0 45.0 45.0 45.0 45.0
B | K (g/mmd) 10 1.0 10 1.0 1.0 1.0 1.0 10
AR (g/mm?) 316 | 316| 316| 316| 316| 316| 316| 3.16
AEHRS (g/mmd) 261 | 261| 261| 261| 261| 261| 261| 261
HAEH (g/mm?) 270 | 270| 270| 270| 270| 270| 270| 270
7K (JIgK) 4185 | 4185 | 4185 | 4185 | 4185 | 4185 | 4185 | 4.185
AL (UGK) 0.780 | 0.780 | 0.780 | 0.780 | 0.780 | 0.780 | 0.780 | 0.780
AEHE (IgK) 0.800 | 0.800 | 0.800 | 0.800 | 0.800 | 0.800 | 0.800 | 0.800
HEH (JgK) 0.800 | 0.800 | 0.800 | 0.800 | 0.800 | 0.800 | 0.800 | 0.800
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